(1-VICS Wit (T E: 1ii: 5 =t

M5

[Al A—F1 5

UL 56

CE 56
RoHS2 ¥}t
IP67 %35t

&

i

5.\'
B

BRREE
$.d R
seenan

LT

o

e

CONTENTS

@O/ FEIF—EEFR o rovrrrcrrceccccccaccaces p.2
i O - R R PR p.3
OLETZI VTV FITVYE c FR ceeevveeeeeees p.4
OLETRIIVTOYEITIU b o AR ceveveeccccees p.5
OAML—FTST r—TINFE « FR cevveeecccees p.6
OALL—FTST r—TINFE « AR cevveeeccccees p.7
@7V TIVT ST r—TIVFE « FR ceeeecnenneceees p.8

OT VFIVT ST T—TIFE « AR cevvvereennnens p.9

Ver.1.0.0



M5 aAV329 MiS—ER

A-coding
3A
60V
26AWG /0.14mm?

10 02 2@ @1
40 O3 3@ @4

Male Female
ik
AR #8348 IEC61076-2-105
Bh7K IP67
dxI%2Fvb ZuTIbAvE
aAVEI b EAVF
M EE DC500V 1 53
MR = 100M Q
a7 248 =50
r—7b Y=V (R b L—FDH)




E M5 il =

B M5 Series L7271V

SERIES —(

=]
&l
&l
llo
‘w
(%]
4

SIZE
05=M5

947

AR

ST=Straight
RA=Right angled

FB=Female PCB type
MB:MaleIPCBlgype o
FS=Female solder type ~
MS=Male solder type 82;3 E8:22
FBS=Female PCB shield type
MBS=Male PCB shield type | LOCKING SYSTEM
F=Fixed screw
A—F4>4 ASSEMBLY METHOD
A=A Coding F=Front mount

R=Rear mount

B M5 Series 7545 r—1U{3¥

[
8
w
(72}
4

)

‘UJ
&
=
&

SERIES
SIZE
05=M5 T—TIYA X
V2 14=0.14mm’
F=Female .
M:Male /7_7”/%
FS=Female shield B=Black
MS:Malg shield ) G:Gr?a(;/
X7V TIEATITIE 0O=Orange
V=) FIEH ) £ A Y=Yellow
s .
Cle =T =2
A=A Coding E—
C=pPVC
LOCKING SYSTEM R-PUR
F=Fixed screw
03=3 Poles 03=0.3m
04=4 Poles 10=1Im
20=2m
Ak 100=10m
ST=Straight

RA=Right angled




-

MBO5 M S A FF 03 ST-14 03

® @

®

BT D mm

@

O #* A
@a—-7F14v7 A
@E 4
@r—7I1VE 30cm
A E N5
B 2t i e R B T A T W
04pin | MBO5MSAFF04ST-1403 fg‘gg; 3A 50V 60V 26AWG 0.14
1Tt
PR IEC61076-2-105
Rk IP67 (O VB)
MARE EEHE /-30°C~ +85°C  (BASHEMILLEE -15°C~ +85°C)
ERRER 1A
EREE 50V AC/ 60V DC
A2 -Fv b ZuTib Ay E
aAVEYI b EP S
faigigin = 100M Q
a7 2R =50
DALY —HF—D 0.14mm: (AWG26)




= M5 17%5

MBO5 F S A FF 03 ST-14 03

® @

®

@

BT D mm

(O3 AR
@a-7F1v7 A
@E 4
@r—7I1VE 30cm
TR N5
M5x0.5 M7x0.75
B it T miaton | e T T o W
04pin | MBO5FSAFF04ST-1403 fg‘gg; 3A 50V 60V 26AWG 0.14
%
B33 IEC61076-2-105
Bh7K P67 (O Z7B¥)
MARE EIEHE /-30°C~ +85°C  (BAEEMILELEE -15°C~ +85°C)
ERER 1A
EREE 50V AC/ 60V DC
aAxIZ2--Fvh ZuTIib Ay F
avzo b EAVF
MR = 100M Q
O 2R =50
TAY—5—T 0.14mm: (AWG26)




BT D mm

MAO5 M S A F 03 ST- 30 CB14
® @ @ @

(O3 2
@aA—-712Y A
(O 4
@r—7IVE 3m
REF 36.5
o b F
%
© _ \
\M 5x0.5
| _ dA—F4>%7 Contacts Rated Voltage 74—
B B TR A termination current A/C D/C AWG mm:2
MAO5MSAFO04ST- 3% CB14
04pin S 302 3m 3m Solder 3A 50V 60V 26AWG 0.14
QRS = 3 4
1Tt
HEHURIE IEC61076-2-105
Bh7k IP67 (B VB
MARE EIEERE /-40°C~ +85°C (EAEHENILLMEE -25°C~ +85°C)
ERER 1A
ERREE 50V AC/ 60V DC
aAxyz-Fvhk ZyaTIb Ay F
aAveo b EXvFE
iR m = 100M Q
ORT ZEM =50
IA1Y—r—=o 0.14mm> (AWG26)




M5

MAO5F S

A F 03 ST-

30CB14

B{7 : mm

(O3 AR
@aA—-712Y A
(O 4
@r—7IVE 3m
_1_ REF 34.8
1 R
o] [
S B KX
M5x0.5
0 5 d—T1425 Contacts Rated Voltage 74 Y—
B B TR A termination current A/C D/C AWG mm?
. MAO5FSAF04ST- 3% 3% CB14 Solder
04pin %% 30 = 3m 3m version 3A 50V 60V 26AWG 0.14
ik
ZEHLFRAS IEC61076-2-105
A7k P67 (O VB
MARE EEERE /-40°C~ +85°C (BAEEHILLMEE -25°C~ +85°C)
ERETR 1A
ERREE 50V AC/ 60V DC
aAxy%-Fvb ZuaTib Ay F
avzo b EAVF
MR = 100M Q
XY ZER =50
TLY—r—=T 0.14mm> (AWG26)




M5 /

MAO5MAF
® @

03 RA- 30 CB14
®

O)

(O3 #2Z
@aA—-712Y A
(O 4
@r—7IVE 3m

X7V TIWEATEY—IV R EH Y A

REF 21

REF 23

BT D mm

B wst i e I S R T T v | o
04pin MAOSMQ ;:’432/1' ;<m>< cB14 3m Solder 3A 50V 60V 26AWG 0.14
i
UG IEC61076-2-105
Rk IP67 (O VB)
MARE EEERE /-40°C~ +85°C  (EAEEN LSS -25°C~ +85°C)
ENRER 1A
EREE 50V AC/ 60V DC
A2 -Fv b ZuTib Ay E
avzyk AvF
faigigin = 100M Q
XY Z3En =50
T Y=l = 0.14mm: (AWG26)




M5 /

MAO5 F A F 03
@ &

F 03 RA- 30 CB14

@

(O3 AR
@aA—-712Y A
(O 4
@r—7IVE 3m

X7V TIWEATEY—IV R EH Y A

BT D mm

REF 23
€
= -5
L
0
—
o w'0‘0‘0'9".0"&.’
X GO
LRI
»Mo.o.o.!.o.o.""ulu’
J OGO
M5x0.5
- aA—F4 9 Contacts Rated Voltage 74—
B B TR A termination current A/C D/C AWG mm2
. MAO5FAF04RA- 3¢ CB14 0 02 Solder
04pin 5% 30 = 3m 3m e 3A 50V 60V 26AWG 0.14
%
ZEPLFRAG IEC61076-2-105
Fh7K P67 (O VB
HAEE EERE /-40°C~ +85°C  (EREEN LGS -25°C~ +85°C)
ERET A
ENMREE 50V AC/ 60V DC
aAxI%2--Fvk ZuTIib Ay F
avzI b EAVF
MR = 100M Q
XY ZER =5Q

DA ==

0.14mm:2 (AWG26)




WD 7€y 7 AR

T116-0012 FRFE#TIXERREA 8-24-2
TEL : 03-3809-0581 FAX : 03-3809-0585

URL : http://www.ivics.jp  e-mail : info@ivics.jp

H2OTORBRFELGLEETHEEHHYVET,



